VYAVILLARTEC Mopens arperata: SB581 (Bensonuna 3,0 kBT /4,0 n.c. 51,8 cm3)
KOHCTpYKTUB.




,0 n.c. 51,8 cm3)

VYAVILLARTEC Mopens arperata: SB581 (Benzonuna 3,0 kBT /4

KOHCTpYKTUB.

Vi

TEBHEOEE )

/,

| /f
N /
% 1y !
= B\ g

A
| 2
N
i N =~
N i~
/
! /
6
A3 3 0 AN
X XN | N
o e
VA iu o (o] .
) A i / [ N
/ X [ | AN
/ \v {
X / A
i \. \
J _/. “\




VILLARTEC

Mopenb arperarta: SB581 (bensonuna 3,0 kBt /4,0 n.c. 51,8 cm3)

KOHCTpYKTUB.
Cnucok 3anmacHbIX yacren
Ne [103.| Apruxyn neramn | Hosbie apruxyibt HaumeHoBaHue KoJ1-Bo

1 5020105001 | 5020105001 |IIaiba SB581 2
2 5010605121 | 5010605121 |Buar M5x12 SB581 7
3 4006001237 | 4006001237 |I'nymmrens SB581 1
4 4019003102 | 4019003102 |ITpoknanka riaymmresss SB581 1
5 49000130241 {490000130241 |Oxnaxknarormii auct SB581 1
6 5011605901 | 5011605901 |Buar M5x90 SB581 2
7 5010705221 | 5011605202 |Bunr M5x22 SB581 4
8 4002001142 | 4002001142 |wmaap SB581 1
9 4009004105 |Ceua 3axuranus (L7T) 1
10 4019004101 | 4019004101 (ITpokmanka SB581 1
11 4005002303 | 4005002303 |IIpoctaBka SB581 1
12 4005004101 | 4005004101 |Kompmo SB581 1
13 4019002116 | 4019002116 |IIpoxnanka mumHApa SB581 1
14 4004004104 | 4004004104 |Cromnopnoe kosbiio SB581 1
15 4004003105 | 4004003105 |ITopumeoi nanen SB581 2
16 4004005101 | 4004005101 |ITpoctaBouHOE KoJbLIO SBS581 1
17 4004002116 | 4004002116 [ITopumeBoe konbLo SB581 2
18 4004001316 | 4004001316 |ITopmens SB581 2
19 5080911151 | 5080911151 |Hrompuatbmi nommmmuk 11x15x11.8 SB581 1
20 4003001225 | 4003001225 |Konenuatslii Baa SB581 1
21 5060103101 | 5060103101 |Imonka 3x3.7x10 SB581 1
22 5010604151 | 5010604151 |Bunar M4x15 SB581 2
23 4014005102 | 4014005102 |ITaTpy6ok macionacoca SB581 1
24 4014001211 | 4014001202 |Macmonacoc SB581 1
25 4014016102 | 4014016102 |Brynka SB581 1
26 4014004102 | 4014004102 |IITymep SB581 1
27 4014002202 | 4014002202 |Puistp MacaeHHbd SB581 1
28 5010604061 | 5010604061 |Bunar M4x6 SB581 3
29 4014008101 | 4014008101 |3ammrHas mianka SB581 1
30 3001046101 | 3001046101 (Ilnanka ckombxenus SB581 2
31 5030308261 | 5030308261 |IImueka SB581 2
32 5011605141 | 5011605141 |Bunar M5x14 SB581 1
33 3001064104 | 3001064104 |3amura SB581 1
34 5010548162 | 5010548162 |Bunt 8x16 SB581 9
35 3001064103 | 3001064103 |Komwmo SB581 1
36 4013001103 | 4013001103 |bydep SB581 1
37 4014015101 | 4014015101 |Cromopnoe kombio SB581 1
38 4014016101 | 4014016101 |Knaman macyo 6aka camyn SB581 1
39 4014010101 | 4014010101 |IlITadgt SB58I1 1




v,LLARTEc Mopenb arperara: SB581 (ben3onuna 3,0 kBTt /4,0 n.c. 51,8 cm3)

KOHCTpYKTHUB.
40 4010002102 | 4010002102 |KpectoBuna mydrer SB581 1
41 4010001102 | 4010001102 |I'py3uk mydrsr SB581 3
42 4010003102 | 4010003102 |IIpyxunra mydTsr SB581 1
43 4010005102 | 4010005102 |IHait6a mydrser SB581 1
44 5080812151 | 5080812151 |Hrompuatei nogmmmHuk 12x15x15 SB581 1
45 4010004314 | 4010004314 |Yamka cruermenus SB581 1
46.1 | 4010007108 [ 4010007108 |Cmennblii Benen 325-7 SB581 1
46.2 | 4010007109 [ 4010007109 |Cmennsiii Beneny 3/8-7 SB581 1
47 4014006302 | 4014006302 |Yepssik macionacoca SB581 1
48 5010604101 | 5010604102 |Bunr M4x10 SB581 3
49 4014002301 | 4014002301 |Kpserka nonoBuHKH KapTepa SB581 1
50 5090215281 | 5090215281 |Canpauk 15x28x4.5 SB581 1
51 5080315351 | 5080315351 |ITogmmmauk 6202RS SB581 2
52 4013002113 | 4013002113 |IIpocTaBka SB581 1
53 4001004124 | 4001004124 |Kaprep (mpaBbiit) SB581 1
54 4008004101 | 4008004101 |Hampagmnstomias SB581 1
55 3001034308 | 3001034308 |Tsira Bo3ayiiHOM 3acaoHku SB581 1
56 4005015102 | 4005015102 |Otpaxarommii uct SB581 1
57 5010405141 | 5010405141 |Bumr M5x14 SB581 8
58 4005019102 | 4005019102 |®nanern kaporopaTopa SB581 1
59 400501510 | 4005015101 |ITpoxmaaka kapOropatopa SB581 1
60 4019005101 | 4019005101 |®nanen konena SB581 1
61 4017001303 | 4017001203 |Kap6ropaTop SB581 1
62 5010705501 | 5010705501 |Bunar M5x50 SB581 2
63 4005003304 | 3001035304 |Dnanen BozaymrHoro ¢mwibTpa SB58I1 1
64 4005014101 | 4005014101 |BcraBka SB581 1
65 5030205321 | 5030205321 [Bunar M5x32 SB581 1
66 5110220201 | 5110220201 |Konbmo SB581 1
67 4005001218 | 4005001218 |Bo3mymmsiii puistp SB581 1
68 3001032302 | 3001032302 |[Bunr Bo3aymHoro guistpa SB581 1
69 3001064105 | 3001064105 [3armymika amoprmsatopa SB581 5
70 4013002110 | 4013002110 |Amoprmatop SB581 3
71 4018002108 | 4018002116 |3acmonka SB581 1
72 4009008101 | 4009008101 |3ammra MukpoBbIKIrouaTessi SB581 1
73 4009005102 | 4009005102 |MuxposikmouaTess SB581 1
74 4009006101 | 4009006101 |Jlepxatens MukpoBbikIrouaTessi SB581 1
75 4001005102 | 4001005102 |Brynka 6x9 SB581 2
76 4007008101 | 4007008101 |[Hmanr SB581 1
77 4019001102 | 4019001102 |ITpoknanka kaprepa SB581 1
78 4007005104 | 4007005104 |Cromnopnoe konbo 5x7 SB581 2
79 4007004103 | 4007004103 |[Hmanr SB581 1
80 4007006301 | 4007006301 |ITatpy6ok SB581 1
81 4001002123 | 4001002123 |Kaprep(neBas gactb) SB581 1
82 4009007104 | 4009007104 |Kommax SB581 1




v,LLARTEc Mopgenb arperara: SB581 (ben3onuna 3,0 kBT /4,0 n.c. 51,8 cm3)

KOHCTpYKTHUB.
83 4009002302 | 4009002309 |Monyns 3axuranus SB581 1
84 4009003102 | 4009003102 |IIpoBox 3ambikanust SB581 1
85 5010705201 | 5010705201 |Bunar M5x20 SB581 2
86 3002002501 | 3002002501 [IIpo6ka M/6 B cObope SB58I 1
87 3001025101 | 3001025101 [Kpeika macnobaka SB581 1
88 3001029301 | 3001029301 |IIpemoxpanurels Kpblinku Maciaobaka SB581 1
89 4014009101 | 4014009101 |Ymioraenue kpblika Maciobaka SB581 1
90 5010605251 | 5010605251 |Bunar M5x25 SB581 5
91 4009001206 | 4009001206 |MaxoBuk ¢ cobaukamu SB581 1
92 5011606001 | 5011606001 |[Bunr cobauxu SB581 1
93 4012005108 | 4012005108 |CobGauka SB581 2
94 4012006106 | 4012006106 |IIpyxuna cobauxu SB581 2
95 4019008101 | 4018008101 |3anmra caipHuka SB58I 2
96 5090215351 | 5090215351 |[Canbnuk 15x35x4.5 SB581 1
97 5070235001 | 5070235001 |CromopHoe komb1o 35 SB581 1
98 5021008011 | 5021008011 |[I"aiika maxoBuka M8x1 SB581 1
99 3002002201 | 3002002201 |Tsara gpoccenbHol 3acioHku B coope SB581 1
100 | 3002001002 [ 3002001002 |Cuemnnenue B coope SB581 1
101 4019002101 | 4018002101 |ITnanka SB581 1
102 4013002134 |Cronop nesslit SB581 1
103 4013002135 |Cronop npassiii SB581 1
104 4007004117 |TonnmeHbli nuadr Bo3spat SB581 1
105 4007004115 |TormmsHeli nutaHr Biyck SB581 1
106 4007016101 [ITpaimep SB581 1
107 4007007103 |Brynka Tomieonpooaa SB581 1
121 3001033305 | 3001033305 |[Bunr kpbliiku Bo3aymHoro guibtpa SB581 1
122 5010604151 | 5010604151 [Buar M4x15 SB581 2
123 3001010151 | 3001010151 [Kpsimika Bo3aymHoro guisTpa SB581 1
124 5010405201 | 5010405201 (Buar M5x20 SB581 2
125 3001009127 | 3001009127 |Koxyx SB581 1
126 | 4018004102 | 4018004102 [Iwnsma SB581 1
127 3001014106 | 3001014106 |Hduddyzop SB58I1 1
128 3002000364 | 3002000364 |Craptep B cOope easy starter SBS81 1
129 5050105161 | 5050105161 |Iaiiba 5x16x1 SB581 1
130 | 4012010107 | 4012010107 |XpanoBuk SB581 1
131 4012002107 | 4012002107 |Bo3spaTtHas npyxuHa SB581 1
132 | 4012015116 | 4012015116 |TpocTHukoBsIi KB SB581 1
133 4012001201 | 4012001201 |Bo3BpatHas npyxuHa SB581 1
134 | 3001013316 | 3001013316 [Kpsiuka ctaprepa SB581 1
135 | 40180021039 [ 4018002139 |BcraBka pyuku ctaprepa SB581 1
136 4019009101 | 4019009101 |Illaii6a B pyuke cTaprepa SB581 1
137 3001024107 | 3001024107 |Pyuka ctaprepa SB581 1
138 | 4012003101 | 4012003101 [ITyckoBoii Tpocuk 3x1000 SB581 1
139 4504001101 | 4504001101 |Hanpasnsromas myckoBoro Tpocuka SB581 1




v,LLARTEc Mopgenb arperara: SB581 (ben3onuna 3,0 kBT /4,0 n.c. 51,8 cm3)

KOHCTpYKTHUB.
140 | 4011002101 | 4011002101 |Hampasmsromas npyxusasl SB581 1
141 4011004108 | 4011004108 |Peraar SB581 1
142 | 4011001102 | 4011001102 |ITpy>xmHa SB581 1
143 | 4011014105 | 4011014105 |Brymnka SB581 1
144 | 4011004106 | 4011004106 |Pwraar SB581 1
145 | 4011004107 | 4011004107 |Pwraar SB581 1
146 | 4015002102 | 4015002102 |Yepssik SB581 1
147 | 4015004102 | 4015004102 |Tomkarens SB581 1
148 | 4011006101 | 4011006101 |ITpyxuHa SB581 1
149 | 5050106181 | 5050106181 |[aiica 6x18x1.5 SB581 1
150 | 5070304001 | 5070304001 |CronopHoe konbLo 4 SB581 1
151 4011008101 | 4011008101 |I[Ia#ica SB581 1
152 | 5070303011 | 5070303011 |CronopHoe konbLo 3.5 SB581 1
153 5010242092 | 5010242092 |Bunr 4.2x9.5 SB581 3
154 | 3001015102 | 3001015102 [Kpslmka Mmexannsma TopMo3HOM JeHThl SB581 1
155 | 4011009101 | 4011009101 [ITpoxmanka SB581 1
156 | 5010242652 | 5010242652 |Bunr 4.2x6.5 SB581 2
157 | 4015013101 | 4015013101 |3ammrHas mnanka SB58I 1
158 | 4015001102 | 4015001102 [Knanan macnoabaka camyn SB581 1
159 | 4018002131 | 4018002131 |[Ilene or6oitnuk SB581 1
160 | 5040103091 | 5040103091 |Iltudr 3x9 SB58I 3
161 4011003108 | 4011003108 |JIenra Topmoza SB581 1
162 | 5040204221 | 5040204221 |Ttudr 4x22 SB581 1
163 | 4011011101 | 4011011101 |3amenxa SB581 1
164 | 4011010101 | 4011010101 |ITpy>xmHa SB581 1
165 3001036103 | 3001036103 |Pyuka Topmo3za SB58I 1
166 | 5070303001 | 5070303001 |CronopHoe konbLo 3 SB581 1
167 | 4011005103 | 4011005103 |[Tudgr SB581 1
168 | 4011005101 | 4011005101 |Itudgr SB581 1
169 | 3001011307 | 3001011307 |Kpsrka Topmosza SB581 1
170 | 5020908001 | 5020908001 |[I"aiika kpermienus mmnsl M8 SB581 1
171 4007004108 | 4007004108 |benzouutanr SB581 2
172 | 4007007102 | 4007007102 |ITpoctaBxa SB581 1
173 | 4007001201 | 4007001201 |@unbTp 6GeH3uHOBBIM SB581 1
174 | 3001004302 | 5010339141 |Kopnyc 6ensobaka SB581 1
175 | 4013002112 | 4019007101 [AmopruzaTop SB581 1
176 | 3002002401 | 4013002111 |Kpsimka 6ensobaka B cOope SB581 1
177 | 3001008103 | 3001039102 |Kpsika pyuku SB581 1
178 4008003102 | 3001004307 |Tsra apoccenbHoi 3acioHKu SB581 1
179 | 3001020102 | 4013002112 [Kypok raza SB581 2
180 | 4008002103 | 4007010102 |ITpyxuHa Kypka raza SB581 1
181 3001021102 | 3001029302 |Cromnopsslii peraar SB581 1
182 | 3001019108 | 3001008120 |Pyuka gyra SB581 1
183 4007002201 | 4007002201 |TormBHbIHi GribTp SB581 1




v,'-LARTEc Mopgenb arperara: SB581 (ben3onuna 3,0 kBT /4,0 n.c. 51,8 cm3)

KOHCTpYKTHUB.
184 | 4007005103 | 4007005103 [Cronopnoe konbio 6 SB581 2
185 4007004113 | 4007004113 |Imanr SB581 1
186 | 4008003102 | 4008003102 |Tsra kypka raza SB581 1
187 3001020102 | 3001020102 [Kypok raza SB581 1
188 | 4008002103 | 4008002103 |[ITpyxuHa cTomopHoro peryara SB581 1
189 5040205241 | 5040205241 |Itudr 5x24 SB581 1
190 3001021102 | 3001021102 |[Cronopssiii peryar SB581 1
191 3001019108 | 4008001103 |PykosiTka ayra SB581 1
192 | 4000011103 | 4000011103 [3y6uaTsrit ynop SB581 1
193 3002000205 | 3002000205 |Kpsika Topmo3a B coope SB581 1
194 | 4011004201 | 4011004201 [Psruar B coope SB581 1
195 3002002401 | 3002002401 |Kperimka TormmBHOro 6aka B coope SB581 1
196 3001027101 | 3001027101 |Kpsimika TommsHoro 6aka SB581 1
197 | 4018002115 | 4018002115 |Hampasmsromas SB581 1
198 5011305141 | 5011305141 (Bunr M15x14 SB581 1
199 3001013310 | 4012015102 |Kopmyc craprepa SB581 1
200 | 4012001111 | 4012003106 [ITpyxuna ctaprepa SB581 1
201 4012001302 | 3002000375 |Yexon npykunHa ctaprepa SB581 1
202 | 4012015102 | 4013002133 [TpocukoBblii mkuB SB581 1
203 3001014102 | 3001013310 |Hduddyszop SB58I1 1
204 | 4012003102 | 4012001102 |[ITyckoBoii Tpocuk 3x900 SB581 1
205 3002000375 | 4012001302 |Craprep B c6ope SB581 1




